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.0R7aR Yy Hran RN -y TWRD
:ARYIPBA ON VYD)

xz-8dx+16d2+x2-6dx+9d2+x2-4dx+4d2+x2-2dx+d2+x2+x2+

+2dx+d2+x2+4dx+4d2+x2+6dx+9d2+x2+8dx+16d2 = y2

2

9x” + 60d2 = y2

3°¥3 y = 3k w71 3 -2 phhnn y © Y312 IROD

9x2 + 60d2 = 9k2

2

3x% + 20d° 2

3k

,d = 3 R0 nyTn 5y Sapnnh v7rhon 11anshy L3 -a pbhin d -w ,pa33 WROn
,2apav d = 3 2

3x2 + 180 = 3k2
X° + 60 = Kk
2 2

kK - x“= 60

]
w
(=]

.
N

1]

(k+x) (k-x) = 60-1 2023 = 154 = 10°6
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:p7nHYa Y3wa NIRTIYBA RN 5 nibapnn IROD

(1) (2) (3 4) )
k+x = 60 k+x = 30 k+x = 20 k+x = 15 k+x = 10
k-x = 1 k-x = 2 k-x = 3 k-x = 4 k-x= 6

$JRIR 1108) .onbyY n131ans nama (5))(2) nIRYIIYBA DIoYn P niRIwny %o

(2) (5)
k + x = 30 k + x =10
k -x= 2 k -x= 6
2k = 32 2k = 16
k = 16 k= 8
@ 2x = 28 2x = 4
x = 14 x= 2

.027N3Y 12 *wInhR 1301 24 12 AR avgb 25 231720 11°R (5) 'on hoWn 9 117h3n
115 OR RN AYYON

26 ,23 ,20 ,17 ,14 ,11 ,8 ,5 ,2 733 0733 DY 48 12 3RA

s JORY

2 2

22 + 52 + 82 + 112 + 142 + 172 + 232 + 26° = 2304 = 48
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